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6880-VSS#show run int gil01/1/0/1

nterface G gabitEthernet101/1/0/1
swi t chport

switchport trunk allowed vlan 500
swi tchport node access

swi tchport access vlan 500

| oad-interval 30

end

6880-VSS#show queueing interface gil01/1/0/1
Interface G gabitEthernet101/1/0/1 queuei ng strategy: Weighted Round- Robin

Port QoS is disabled globally
Queueing on G 101/1/0/1: Tx Enabl ed Rx Di sabl ed

Trust boundary di sabl ed

Trust state: trust DSCP

Trust state in queueing: trust DSCP

Default COS is O
Queueing Mode In Tx direction: node-dscp
Transmt queues [type = 1p3q3t]:
Queue Id Schedul ing Num of threshol ds

WRR bandwi dth ratios: 100[ queue 2] 100[ queue 3] 100[ queue 4] 0[ queue 5]
queue-limt ratios: 15[ Pri Queue] 25[queue 2] 40[queue 3] 20[queue 4]

queue thresh dscp-map

32 33 40 41 42 43 44 45 46 47

16 17 18 19 20 21 22 23 26 27 28 29 30 31 34 35 36 37 38 39
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cl ass-map type
mat ch dscp 32
cl ass-map type
mat ch dscp 24
cl ass-map type | an-queui ng match-any |t
mat ch dscp defaul t
TME A0l M 29 Y =
pol i cy-map type | an-queuing |test
class type | an-queuing |test
priority
class type lan-queuing ltestl
bandwidth remaining percent 30
class type |lan-queuing ltest2
bandwidth remaining percent 20
class class-default

| an- queui ng mat ch-any It

| an- queui ng mat ch-any It

=

6880- VSS#conf t
6880-VSS(config)#int gil01/1/0/1
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6880-VSS(config-if)#service-policy type lan-queuing output ltest

Propagating [attach]

X E0{ lan-queuing

| an queueing policy "ltest" to G 101/1/0/1 G 101/1/0/2 G 101/1/0/3

G
G
G
G
G
G
G

v

oNoNoNoNoNoNoN0)

v

oNoNoNoNoNoNoN0)

ropagating [attach]

ropagating [attach]

101/1/0/4 G 101/1/0/5 G
101/1/0/12 G 101/1/0/13
101/1/0/18 G 101/1/0/19
101/1/0/ 24 G 101/1/0/ 25
101/1/0/30 G 101/1/0/31
101/1/0/36 G 101/1/0/37
101/1/0/42 G 101/1/0/ 43

101/1/0/6 G 101/1/0/7 G 101/1/0/8 G 101/1/0/9 G 101/1/0/10

G 101/ 1/0/ 14
G 101/ 1/0/ 20
G 101/ 1/0/ 26
G 101/ 1/0/ 32
G 101/ 1/0/ 38
G 101/ 1/ 0/ 44

G 101/ 1/0/ 15
G 101/1/0/ 21
G 101/ 1/0/ 27
G 101/ 1/0/ 33
G 101/ 1/0/ 39
G 101/ 1/0/ 45

| an queueing policy "ltest" to

G 101/1/0/16 G 101/1/0/17
G 101/1/0/22 G 101/1/0/23
G 101/1/0/28 G 101/1/0/29
G 101/1/0/34 G 101/1/0/35
G 101/1/0/40 G 101/1/0/41
G 101/1/0/ 46 G 101/1/0/ 47

G 101/2/0/1 G 101/2/0/2

101/2/0/3 G 101/2/0/4 G 101/2/0/5 G 101/2/0/6 G 101/2/0/7 G 101/2/0/8
101/2/0/9 G 101/2/0/10 G 101/2/0/11 G 101/2/0/12 G 101/2/0/13 G 101/2/0/ 14

101/ 2/ 0/ 15
101/ 2/0/ 21
101/ 2/ 0/ 27
101/ 2/0/ 33
101/ 2/ 0/ 39
101/ 2/ 0/ 45

G 101/ 2/0/ 16
G 101/ 2/ 0/ 22
G 101/ 2/ 0/ 28
G 101/ 2/ 0/ 34
G 101/ 2/ 0/ 40
G 101/ 2/ 0/ 46

G 101/ 2/ 0/ 17
G 101/ 2/ 0/ 23
G 101/ 2/ 0/ 29
G 101/ 2/ 0/ 35
G 101/ 2/ 0/ 41
G 101/ 2/ 0/ 47

G 101/ 2/0/ 18

G 101/ 2/0/19 G 101/2/0/ 20

G 101/ 2/0/24 G 101/2/0/25 G 101/ 2/0/ 26

G 101/ 2/0/ 30
G 101/ 2/ 0/ 36
G 101/ 2/ 0/ 42
G 101/ 2/ 0/ 48

G 101/ 2/0/31 G 101/2/0/32
G 101/ 2/0/37 G 101/2/0/ 38
G 101/ 2/ 0/ 43 G 101/ 2/0/ 44

| an queueing policy "ltest" to G 101/3/0/1 G 101/3/0/2

101/3/0/3 G 101/3/0/4 G 101/3/0/5 G 101/3/0/6 G 101/3/0/7 G 101/3/0/8
101/3/0/9 G 101/3/0/10 G 101/3/0/11 G 101/3/0/12 G 101/3/0/13 G 101/3/0/ 14

101/ 3/0/ 15
101/3/0/ 21
101/ 3/0/ 27
101/ 3/0/ 33
101/ 3/0/ 39
101/ 3/ 0/ 45

G 101/ 3/0/ 16
G 101/ 3/0/ 22
G 101/ 3/0/ 28
G 101/ 3/0/ 34
G 101/ 3/0/ 40
G 101/ 3/ 0/ 46

G 101/ 3/0/ 17
G 101/ 3/0/ 23
G 101/ 3/0/ 29
G 101/ 3/0/ 35
G 101/ 3/0/ 41
G 101/ 3/ 0/ 47

G 101/3/0/ 18

G 101/3/0/19 G 101/3/0/20

G 101/3/0/24 G 101/3/0/25 G 101/3/0/ 26

G 101/ 3/0/ 30
G 101/ 3/0/ 36
G 101/ 3/0/ 42
G 101/ 3/0/ 48

G 101/3/0/31 G 101/3/0/32
G 101/3/0/37 G 101/3/0/ 38
G 101/ 3/0/43 G 101/ 3/0/ 44

G 101/ 1/0/ 48



Propagating [attach] |an queueing policy "ltest" to G 101/4/0/1 G 101/4/0/2
G 101/4/0/3 G 101/4/0/4 G 101/4/0/5 G 101/4/0/6 G 101/4/0/7 G 101/4/0/8

G 101/4/0/9 G 101/4/0/10 G 101/4/0/11 G 101/4/0/12 G 101/4/0/13 G 101/4/0/ 14
G 101/4/0/15 G 101/4/0/16 G 101/4/0/17 G 101/4/0/18 G 101/4/0/19 G 101/4/0/ 20
G 101/4/0/21 G 101/4/0/22 G 101/4/0/23 G 101/4/0/24 G 101/4/0/25 G 101/ 4/0/ 26
G 101/4/0/ 27 G 101/4/0/28 G 101/4/0/29 G 101/4/0/30 G 101/4/0/31 G 101/4/0/ 32
G 101/4/0/33 G 101/4/0/34 G 101/4/0/35 G 101/4/0/36 G 101/4/0/37 G 101/4/0/ 38
G 101/4/0/39 G 101/4/0/40 G 101/4/0/41 G 101/4/0/42 G 101/4/0/43 G 101/4/0/ 44
G 101/4/0/ 45 G 101/4/0/ 46 G 101/4/0/47 G 101/4/0/ 48

6880- VSS(config-if)#

6880- VSS(confi g-if)#end

&Y Yo MBE|QUEX| FHolgct.

6880-VSS#show run int gil01/1/0/1

nterface G gabitEthernet101/1/0/1

swi t chport

swi tchport trunk allowed vlan 500

swi tchport npde access

swi tchport access vlan 500

| oad-interval 30

service-policy type | an-queui ng output |test
end

. 2eiA Mol 7 |d oHE, CHZE U v &Y, DSCP(Differentiated Services Code Point)
ofZoi| cHer 7 = el

6880-VSS#show queueing int gil01/1/0/1

Interface G gabitEthernet101/1/0/1 queueing strategy: Wighted Round- Robin

Port QoS is disabled globally
Queueing on G 101/1/0/1: Tx Enabled Rx Di sabl ed

Trust boundary di sabl ed

Trust state: trust DSCP
Trust state in queueing: trust DSCP
Default COS is O

Class-map to Queue in Tx direction

Cl ass- nmap Queue Id
ltest 1
ltestl 4
ltest2 3
class-default 2

Queueing Mode In Tx direction: node-dscp
Transnmit queues [type = 1p3q3t]:
Queue 1d Schedul ing Num of threshol ds

1 Priority 3
2 WRR 3
3 WRR 3
4 WRR 3
WRR bandwi dth rati os: 50[queue 2] 20[queue 3] 30[queue 4]
queue-limt ratios: 15[ Pri Queue] 100[ queue 2] 100[ queue 3] 100[ queue 4]
queue thresh dscp-map
1 1 32
1 2
1 3
2 1 12345678910 11 12 13 14 15 16 17 18 19 20 21 22

23 25 26 27 28 29 30 31 33 34 35 36 37 38 39 40 41 42 43
44 45 46 47 48 49 50 51 52 53 54 55 56 57 58 59 60 61 62 63
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6. 6800ia0i M HHIH 2 CHA = S CHA| =QIFLICHEDEY oA tis HH 7t XIE
XHetR| fomM 7|2XHo 2 100% 7t 2L ELICHO 7| 1:15/ [15+100+100+100] = 4CH 7|
2:100/[15+100+100+100] ~ 31CtE CH7[Zod| CHSHM = 7t S X7t mt-4ElL[Ct.

6880-VSS#remote command fex 101 show mls gos int gil/0/1 buffer

G gabit Ethernet1/0/1
The port is mapped to gset : 1
The allocations between the queues are : 4 31 31 34

6880-VSS#remote command fex 101 show mls gos int gil/0/1 queueing

G gabit Et hernet1/0/1
Egress Priority Queue : enabled
Shaped queue weights (absolute) : 000O
Shared queue weights : 0 127 51 76
The port bandwidth linmit : 100 (Operational Bandw dth: 100. 0)
The port is mapped to gset : 1
7. 2 AU EciEO| ZF Ch7|goll FIHEIRI=X], 22|12 AFX7H A= K] = lgfLct
6880-VSS#remote command fex 101 show mls gos int gil/0/1 statistic

G gabitEthernet1/0/1 (Al statistics are in packets)

dscp: incom ng

0- 4 0 0 0 0 0
5- 9 0 0 0 0 0
10 - 14 0 0 0 0 0
15 - 19 0 0 0 0 0
20 - 24 0 0 0 0 0
25 - 29 0 0 0 0 0
30 - 34 0 0 0 0 0
35 - 39 0 0 0 0 0
40 - 44 0 0 0 0 0
45 - 49 0 0 0 13 0
50 - 54 : 0 0 0 0 0
55 - 59 : 0 0 0 0 0
60 - 64 : 0 0 0 0

dscp: outgoing

0- 4 0 0 0 0 0
5- 9 0 0 0 0 0
10 - 14 0 0 0 0 0
15 - 19 0 0 0 0 0
20 - 24 0 0 0 0 9118500
25 - 29 0 0 0 0 0
30 - 34 0 0 516236 0 0
35 - 39 0 0 0 0 0
40 - 44 0 0 0 0 0
45 - 49 0 0 0 20 0
50 - 54 0 0 0 0 0
55 - 59 0 0 0 0 0



60 - 64 : 0 0 0 0
cos: incom ng

0- 4: 41 0 0 9118505 516236
5- 7: 0 0 0

out put queues enqueued:

queue: t hreshol d1 t hr eshol d2 t hreshol d3

queue 0: 516255 35 5

queue 1: 12 0 0

queue 2: 0 0 0

queue 3: 9118520 0 0

out put queues dropped:

queue: t hreshol d1 t hr eshol d2 t hreshol d3

queue O: 0 0 0

queue 1: 0 0 0

queue 2: 0 0 0

queue 3: 49823 0 0

Policer: Inprofile: 0 QutofProfile: 0

T4 o 2:CH4 % Y

Cl2 ofo] M= 6800ia TX CHZ 0] CHEH CHIZ ql HIHE A SH= Hede Hod SLC).

1
0

1. ofl 10l M Y E G2 Mol CHS ollet 2ol 7|8 HE E&F 2 XIEE + A&LIch .
=]

M ZafAof cHal HIH 7IE xS RXIMSHR| oM 7|20 2 100%7F AQEIL|CH
policy-map type | an-queuing |test
cl ass type | an-queuing |test
priority
queue-buffers ratio 15
class type lan-queuing ltestl
bandwidth remaining percent 30
queue-buffers ratio 30
class type |l an-queuing ltest2
bandwidth remaining percent 20
queue-buffers ratio 40
cl ass cl ass-defaul t
queue-buffer ratio 15
2. S22 YoM Ch71 OHE, CHZ L wind B, DSCPOIl CHE CH7 I HZ &el:
6880-VSS#sh queueing int gil01/1/0/1
Interface G gabitEthernet101/1/0/1 queuei ng strategy: Wighted Round- Robin

Port QoS is disabled globally
Queueing on G 101/1/0/1: Tx Enabled Rx Di sabl ed

Trust boundary disabl ed

Trust state: trust DSCP
Trust state in queueing: trust DSCP
Default COS is O
Class-map to Queue in Tx direction
Cl ass- map Queue Id



ltest 1

ltestl 4
ltest2 3
class-default 2

Queueing Mode In Tx direction: node-dscp
Transnmit queues [type = 1p3q3t]:
Queue Id Schedul ing Num of threshol ds
1 Priority
2 WRR
3 WRR
4 WRR

WRR bandwidth ratios: 50 [queue 2] 20[queue 3] 30[queue 4]
queue-limit ratios: 15[Pri Queue] 15[queue 2] 40[queue 3] 30[queue 4]

queue thresh dscp-map

123456789 10 11 12 13 14 15 16 17 18 19 20 21
22 23 25 26 27 28 29 30 31 33 34 35 36 37 38 39 40 41
42 43 44 45 46 47 48 49 50 51 52 53 54 55 56 57 58 59 60 61 62 63

2 2
2 3

3 1 0
3 2
3 3

4 1 24
4 2
4 3

3.6800ia0l| A HHIH & CHAZE &2 CHA| = QIghLCt.
6880-VSS#remote command fex 101 sh mls gos int gil/0/1 queueing

G gabit Ethernet1/0/1

Egress Priority Queue : enabled

Shaped queue wei ghts (absolute) : 0000

Shared queue weights : 0 127 51 76

The port bandwidth Iimt : 100 (Operational Bandw dth: 100. 0)
The port is mapped to gset : 1

6880-VSS#remote command fex 101 sh mls gos int gil/0/1 buffers

G gabit Ethernet1/0/1
The port is mapped to gset : 1
The allocations between the queues are : 15 15 40 30

4. &4l A= EgfEo| Z ch7|Fol| FIHE[UR=X], 221 AX7F U=X| & lFLct
6880-VSS#remote command fex 101 sh mls gos int gil/0/1 statistic

G gabitEthernet1/0/1 (Al statistics are in packets)

dscp: incom ng

0- 4 0 0 0 0 0
5- 9 0 0 0 0 0
10 - 14 0 0 0 0 0
15 - 19 0 0 0 0 0



0 -
5 -
out pu

queue:

out pu

29 : 0
34 : 0
39 : 0
44 0
49 0
54 : 0
59 : 0
64 : 0
out goi ng
4 : 0
9 : 0
14 0
19 : 0
24 : 0
29 : 0
34 : 0
39 : 0
44 0
49 0
54 : 0
59 : 0
64 : 0
i ncom ng
4 : 5323
7 0
out goi ng
4 : 1718
7 0
t queues enqueued:
t hreshol d1
0: 29365402
1: 793
2: 0
3: 530554174

t

queue:

t hreshol d1

gueues dropped:

Pol i ce

Cte& &l

r:

1
2309351

I nprofile:

0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 29364400
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
t hreshol d2 t hreshol d3
1883 5
98 0
0
0
t hreshol d2 t hreshol d3
10 0
24093 0
0
0

0 QutofProfile:

24/l o] 5ol CHall ALE 7tSEh &l ™

= e e

A7t & LICH

O O o o

491

O O o

OO OO ooo

775

57864691

O O o

5786468

29364400

O O OO OoOoOo

0

0
0
0

7

O O OO OoOoOo
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Output Interpreter = (SSE TPt s )= £ show BEE X[ HELICH.show BHE £240| &
M2 HE{M (&3 QIHZEH E7)E A8 E L

#:debug BHE A8 st7| Mo CIHT BP0 CHer 2 HEE HRstAAL.

1. 6800ia CLIO{I A gos- -manager0i| CHeF C[IHOE &5t efLICh 27 HHE ZIC|EMET 2
2 HIH} =2 A2 MHEEIQI=X| =gt
6880- VSS#at t ach fex 101

Attach FEX: 101 ip:192.168.1.101
Trying 192.168.1.101 ... Open

Password: cisco
FEX- 101#
FEX-101l1l#debug platform gos-manager all
QM ver bose debugging is on
QM cops debuggi ng is on
QM events debugging is on
M Statistics debugging is on
FEX- 101#exi t
[ Connection to 192.168.1.101 cl osed by foreign host]
2. ClHZg EBIHa 7| Slaf M3 Mg 7AshLIch
6880- VSS#conf t
6880- VSS(confi g) #int gil01/1/0/1
6880- VSS(config-if)# service-policy type lan-queuing output ltest
Propagating [attach] |an queueing policy "ltest" to G 101/1/0/1
G 101/1/0/2 G 101/1/0/3 G 101/1/0/4 G 101/1/0/5 G 101/1/0/6 G 101/1/0/7 G 101/1/0/8
G 101/1/0/9 G 101/1/0/10 G 101/1/0/12 G 101/1/0/13 G 101/1/0/14 G 101/1/0/15 G 101/1/0/ 16
<sni p>
6880- VSS(confi g-i f)#end

3. C|H1 & &Ql5tedT FEX(Fabric Extender)Q| 218 & QIEtL|Ct
6880-VSS#remote command fex 101 show log
<sni p>
May 20 06:43:18.208: HQM hul c_fex_qos_priority_handl er: hulc_fex qgos_priority handler:
****Setting Priority Queue (FEX-101)

May 20 06:43:18.208: HQVW hul c_fex_qos_priority_handler: hulc_fex_qgos_priority_handl er:
subopcode=2 startport=0 endport=0 size=4 (FEX-101)

May 20 06:43:18.208: HQW hul c_f

_fex_qgos_priority_handl er: QueueNum=1 PriorityQueue=1 queuetype=2 threshol dsnum=3 (FEX-101)
May 20 06:43:18.212: HQVM hul c_fex_qos_priority_handl er: hulc_fex_qgos_priority_handl er:
i db=G gabi t Et hernet 1/ 0/ 1 (FEX-101)

May 20 06:43:18.212: HQVM hul c_fex_qos_priority_handl er: hulc_fex_qgos_priority_handl er:
i db=G gabi t Et hernet 1/ 0/ 2 (FEX-101)

May 20 06:43:18.212: HQVM hulc_fex_qos_priority_handl er: hulc_fex_qgos_priority_handl er:
i db=G gabi t Et hernet 1/ 0/ 3 (FEX-101)

<sni p>

hulc_fex gos_srr_weight_setting:****Setting weight for queues**** (FEX-101)
May 20 06:43:18.232: HQM hul c_fex_qos_srr_wei ght _setting: hul c_fex_gos_srr_wei ght_setting:
subopcode=2 startport=0 endport=0 size=4 (FEX-101)
May 20 06:43:18.232: HQM hul c_fex_qos_srr_wei ght _setting: hul c_fex_gos_srr_wei ght_setting:
QueueNum=1 RRType=0 Wi ght Rel ati ve=0 Weéi ght Absol ut e=0 ( FEX-101)

20 06:43:18.232: HQM hul c_fex_qos_srr_weight_setting: hul c_fex_qgos_srr_wei ght_setting:
ratio is 0 for queue 1 (FEX-101)
May 20 06:43:18.232: HQM hul c_fex_qos_srr_wei ght _setting: hul c_fex_gos_srr_wei ght_setting:


https://www.cisco.com/cgi-bin/Support/OutputInterpreter/home.pl
//tools.cisco.com/RPF/register/register.do
/content/en/us/support/docs/dial-access/integrated-services-digital-networks-isdn-channel-associated-signaling-cas/10374-debug.html

QueueNum=2 RRType=0 Weéi ght Rel ati ve=33 Weéi ght Absol ut e=0 ( FEX- 101)
<sni p>

20 06:43:19.110: HQM: hulc_fex qgos_buffer conf: **Setting buffer for output queues** (FEX-
101)

May 20 06:43:19.110: HQM hul c_fex_qos_buffer_conf: hul c_fex_qgos_buffer_conf:
subopcode=2 startport=0 endport=0 size=4 (FEX-101)

May 20 06:43:19.110: HQM hul c_fex_qos_buffer_conf: hul c_fex_qgos_buffer_conf:
queuenum=l si ze=15 (FEX-101)

May 20 06:43:19.110: HQM hul c_fex_qos_buffer_conf:

hul c_f ex_qos_buffer_conf: queuenum=2 size=25 (FEX-101)

May 20 06:43:19.110: HQM hul c_fex_qos_buffer_conf:

hul c_f ex_qos_buffer_conf: queuenum=3 si ze=40 (FEX-101)

May 20 06:43:19.110: HQM hul c_fex_qos_buffer_conf:

hul c_f ex_qos_buffer_conf: queuenum=4 size=20 (FEX-101)

May 20 06:43:19.110: HQM hgm

20 06:43:19.113: HQM s88g_qd_get _queue_t hreshol d: s88g_qd_get _queue_t hreshol d:
max_limt = 3200, set to 350. (FEX-101)

May 20 06:43:19.113: HQM s88g_qd_get _queue_t hreshol d: s88g_qd_get _queue_t hreshol d:
max_limt = 3200, set to 350. (FEX-101)

<sni p>

hulc_fex_ gos_qgthresh map:****Setting dscp to output queue map**** (FEX-101)
May 20 06:43:19.169: HQM hul c_fex_qos_qgthresh_map: hul c_f ex_qgos_qt hresh_nmap:
subopcode=2 startport=0 endport=0 size=1 (FEX-101)

May 20 06:43:19.169: HQM hul c_fex_qos_qgthresh_map: hul c_fex_qgos_qt hresh_nap: DscpBma
20 06:43:19.169: HOM hul c_fex_qgos_qgthresh_map: hul c_fex_gos_qt hresh_nap
dscp=32 iterator=0 (FEX-101)

May 20 06:43:19.169: HQM hul c_fex_qos_qgthresh_map: hul c_f ex_qgos_qt hresh_nap
dscp=33 iterator=1 (FEX-101)

May 20 06:43:19.169: HQM hul c_fex_qos_qgthresh_map: hul c_fex_qgos_qt hresh_nap
dscp=40 iterator=2 (FEX-101)
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